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Súria (940 km2)
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(a) Súria (940 km2)
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Sant Sadurní (736 km2)
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(b) Sant Sadurní (736 km2)
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Castellbell (3340 km2)
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(c) Castellbell (3340 km2)
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Abrera (3587 km2)
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(d) Abrera (3587 km2)
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Sant Joan Despí (4915 km2)
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(a) Castellbell (3340 km2)

0

200

400

600

800

1000

1200

1400

1600

9/6/00 12:00 10/6/00 0:00 10/6/00 12:00 11/6/00 0:00 11/6/00 12:00 12/6/00 0:00 12/6/00 12:00

Local time

Q
 (

m
3
/s

)

Q_observed

Q_-5%PV

Q_+5%PV

Q_WEST

Q_EAST

(a)

Abrera (3587 km2)

0

200

400

600

800

1000

1200

1400

1600

9/6/00 12:00 10/6/00 0:00 10/6/00 12:00 11/6/00 0:00 11/6/00 12:00 12/6/00 0:00 12/6/00 12:00

Local time

Q
 (

m
3 /s

)

Q_observed

Q_-5%PV

Q+5%PV

Q_WEST

Q_EAST

(b) Abrera (3587 km2)
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Sant Joan Despí (4915 km2)

0

200

400

600

800

1000

1200

1400

1600

1800

2000

9/6/00 12:00 10/6/00 0:00 10/6/00 12:00 11/6/00 0:00 11/6/00 12:00 12/6/00 0:00 12/6/00 12:00

Local time

Q
 (

m
3
/s

)

Q_observed

Q_-5%PV

Q_+5%PV

Q_WEST

Q_EAST

(c) Sant Joan Despí (4915 km2)
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